

Diviser des fractions mixtes négatives (G)

Nom: _____

Date: _____

Note: _____

Calculez chaque quotient.

$$1. \quad \left(-2\frac{1}{2}\right) \div 2\frac{1}{3} = \text{---} \div \text{---} = \text{---} \times \text{---} = \text{---} = \text{---}$$

$$2. \quad \left(-3\frac{6}{11}\right) \div 1\frac{4}{7} = \text{---} \div \text{---} = \text{---} \times \text{---} = \text{---} = \text{---}$$

$$3. \quad \left(-4\frac{1}{2}\right) \div \left(-4\frac{2}{3}\right) = \text{---} \div \text{---} = \text{---} \times \text{---} = \text{---}$$

$$4. \quad \left(-4\frac{1}{2}\right) \div \left(-1\frac{3}{5}\right) = \text{---} \div \text{---} = \text{---} \times \text{---} = \text{---} = \text{---}$$

$$5. \quad \frac{1}{3} \div \left(-3\frac{9}{10}\right) = \text{---} \div \text{---} = \text{---} \times \text{---} = \text{---}$$

$$6. \quad 3\frac{3}{4} \div \left(-3\frac{4}{9}\right) = \text{---} \div \text{---} = \text{---} \times \text{---} = \text{---} = \text{---}$$

$$7. \quad \left(-4\frac{1}{3}\right) \div \left(-2\frac{1}{2}\right) = \text{---} \div \text{---} = \text{---} \times \text{---} = \text{---} = \text{---}$$

$$8. \quad 1\frac{1}{2} \div \left(-4\frac{1}{3}\right) = \text{---} \div \text{---} = \text{---} \times \text{---} = \text{---}$$

$$9. \quad \left(-4\frac{1}{7}\right) \div 3\frac{7}{9} = \text{---} \div \text{---} = \text{---} \times \text{---} = \text{---} = \text{---}$$

$$10. \quad 3\frac{2}{3} \div \left(-4\frac{1}{2}\right) = \text{---} \div \text{---} = \text{---} \times \text{---} = \text{---}$$

Diviser des fractions mixtes négatives (G) Réponses

Nom: _____

Date: _____

Note: _____

Calculez chaque quotient.

$$1. \quad \left(-2\frac{1}{2}\right) \div 2\frac{1}{3} = \left(-\frac{5}{2}\right) \div \frac{7}{3} = \left(-\frac{5}{2}\right) \times \frac{3}{7} = \left(-\frac{15}{14}\right) = \left(-2\frac{1}{14}\right)$$

$$2. \quad \left(-3\frac{6}{11}\right) \div 1\frac{4}{7} = \left(-\frac{39}{11}\right) \div \frac{11}{7} = \left(-\frac{39}{11}\right) \times \frac{7}{11} = \left(-\frac{273}{121}\right) = \left(-3\frac{31}{121}\right)$$

$$3. \quad \left(-4\frac{1}{2}\right) \div \left(-4\frac{2}{3}\right) = \left(-\frac{9}{2}\right) \div \left(-\frac{14}{3}\right) = \left(-\frac{9}{2}\right) \times \left(-\frac{3}{14}\right) = \frac{27}{28}$$

$$4. \quad \left(-4\frac{1}{2}\right) \div \left(-1\frac{3}{5}\right) = \left(-\frac{9}{2}\right) \div \left(-\frac{8}{5}\right) = \left(-\frac{9}{2}\right) \times \left(-\frac{5}{8}\right) = \frac{45}{16} = 2\frac{13}{16}$$

$$5. \quad \frac{1}{3} \div \left(-3\frac{9}{10}\right) = \frac{1}{3} \div \left(-\frac{39}{10}\right) = \frac{1}{3} \times \left(-\frac{10}{39}\right) = \left(-\frac{10}{117}\right)$$

$$6. \quad 3\frac{3}{4} \div \left(-3\frac{4}{9}\right) = \frac{15}{4} \div \left(-\frac{31}{9}\right) = \frac{15}{4} \times \left(-\frac{9}{31}\right) = \left(-\frac{135}{124}\right) = \left(-2\frac{11}{124}\right)$$

$$7. \quad \left(-4\frac{1}{3}\right) \div \left(-2\frac{1}{2}\right) = \left(-\frac{13}{3}\right) \div \left(-\frac{5}{2}\right) = \left(-\frac{13}{3}\right) \times \left(-\frac{2}{5}\right) = \frac{26}{15} = 1\frac{11}{15}$$

$$8. \quad 1\frac{1}{2} \div \left(-4\frac{1}{3}\right) = \frac{3}{2} \div \left(-\frac{13}{3}\right) = \frac{3}{2} \times \left(-\frac{3}{13}\right) = \left(-\frac{9}{26}\right)$$

$$9. \quad \left(-4\frac{1}{7}\right) \div 3\frac{7}{9} = \left(-\frac{29}{7}\right) \div \frac{34}{9} = \left(-\frac{29}{7}\right) \times \frac{9}{34} = \left(-\frac{261}{238}\right) = \left(-2\frac{23}{238}\right)$$

$$10. \quad 3\frac{2}{3} \div \left(-4\frac{1}{2}\right) = \frac{11}{3} \div \left(-\frac{9}{2}\right) = \frac{11}{3} \times \left(-\frac{2}{9}\right) = \left(-\frac{22}{27}\right)$$